
1-βα=significance

Kendall's Advanced Theory of 
Statistics:Volume 2A -Classical Inference

The probability of type 2 errors is OFCOURSE
(emphasis in the original version) a sanction of 
the alternative hypothesis (H1) considered and is
the probability to wrongly accept H0 when it is 
false or P(accept H0|H1)

Confusing a bit…
False H0->H1
à β = Prob(accept H0 |H1)

1− β = Prob(reject H0 |H1)

Statistics	ESHEP	2017	Eilam	Gross 1



Statistics	ESHEP	2017	Eilam	Gross 2



Statistics	ESHEP	2017	Eilam	Gross 3



https://www-cdf.fnal.gov/physics/statistics/notes/H0H1.pdf
Methods	for	Comparing	two	Hypotheses
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